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1.Refer to the exhibit below:
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Based on the output from the Data Exploration node shown in the exhibit, which variable has the most
thin tails (most platykurtic distribution)?

A. Logi_rfm4

B. Logi_rfm6

C. Logi_rfm8

D. Logi_rfm12

Answer: D

2.Given the following properties for a neural network model, which statement is true regrading hidden
units in the model? The following SAS program is submitted:
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Property name Property value

LY
L

A. There are no hidden units in the model.
B. The number of hidden units is 1.

C. The number of hidden units is 50.

D. The number of hidden units is 26.
Answer: D

3.Which of the following is an example of a NoSQL database that is commonly used to store
unstructured data?

A. MySQL

B. MongoDB

C. Oracle Database

D. Microsoft SQL Server

Answer: B

4.What is the primary goal of A/B testing in the context of model deployment?

A. To evaluate the model's accuracy

B. To compare two different versions of a model or strategy to determine which performs better
C. To assess data quality

D. To create synthetic data

Answer: B

5.What does the term "bias" in machine learning refer to?

A. A model's inability to generalize to new data

B. Systematic errors that cause a model to consistently underpredict or overpredict
C. The simplicity of a model

D. The overall accuracy of a model

Answer: B
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